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Answer all questions,

Al questions varry equul marks,

Only ohe answer is to be given for eich question,

I more than one answers are marked, it would

be treated as WICHE answer,

Each question has four alternative Tesponscs

marked scrially ag 1, 2,3, 4. You have 1o darken

the correet answer.

There will be po fAcgative marking for wrong

answer,

The candidate should ensure that Roll Number,

Subject Code and Serjes Code on the Question

Paper Booklet and Answer Sheel must be sHme

alter opening the envelopes, In case they are

different, a candidatc must obtain another

Question Paper of the same serics. Candidate

himself shall pe respansible for cnsuring this,

Mobile Phone or any other electronjc gadget in

the examination hall js strictly prohibited. A

candidate found with any of such objectionable

material with him/ler wifl be strictly dealt as per
rules,

The candidate will be alfowed to varry the carbon

print-out of OMR Response Sheet with them on

conclusion of the examination.

If there is any sort of ambiguity/mistake cither

of priniing or factual nature tlien out of Hindj

and English Version of the question, the English

Version will be treated as standard,

Warning :
any unauthorised material is found jn
histher possession. FIR. would be
lodged against hinvher in the Police
Station and heshe would [ia ble to be
proseected under Section 3 of the
R.PE. (Prevention of Unfatrmeans)
Act. 1992, Commission mayv also
debar Lim/her permanently from al}
tuture examinations  of  fhe
Commission.
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According to Aristotle

(1) God is material cause of the world

(2) God is only formal cause

(3) God is only final cause

(4) God is formal, efficient and final cause

SR, AT

(1) 39aT 9 &1 SURH BRY §

(2) S¥R W BT SEIG BRI T

(3) 39X By iR wrIEw ¥

(9) 29 s w o, Pt o e e &

What difference does Spinoza accept between attribute and mode ?
(1) Attribute is permanent and mode is changing

(2) Mode is permanent and attribute is changing

(3)  Attribute is in substance and mode is in substance

(4)  Mode is in attribute and attribute is in mode

Reftom 91 @ vy B e B wheR BE E P
() T &= 3 i 9Rad=sha &

2) wafa g 9 or aRedashe &

B) MsHHT MR a2

(4) v e ¥ el w ity A %

Whose statement is Ess Est .percipil from the following ?

(1) Locke (2) Spinoza
(3) Leibnitz (4) Berkeley
e 51 Ay e F ¥ Regw wu 30

(1) wiw - (2) Radn
(3) wgEiTE (4) wha

According to Kant
(1) 'Thing-in itself is unknown (2) Tdeas are eternal
(3)  Soulis the creation of God  (4) Causality is relation of association

HE H TR
H Sg-wEa W aEg (2) voa P ¥
(3) oem 97 @Y = ¥ (4) BROE dET B ogE

Who among following accepts the doctrine of Pluralism

(1} Leibnitz (2) Spinoza
(3) Hegal (4) Bradley
Pt & 9 qgaear & R B e s
(1) wrsafra (2) ey
(3) T @) s



6 The language game theory is associated with 1 8

{I) Russell (2) Moore

(3) Husserl ’ (4) Wittgenstein

wroh B e w3 ; 18

1y @@ @ W

@) g ) P 18
7 Which one of the following pairs is not correctly matched ? ' 18

(1)  Plato - Theory of ideas

(2) Kant - Categories of understanding 18

(3) Hume - Denial of soul substance : 18

{4) Spinoza - Substancg is many : )

i ddmmgrad g 2 7 % 18

(1) <= - v &1 fgrd : 18

(2) @Me - ghg B sgERend
(3) A - AWH FeT wF @osT
(@) RaFieT - 3o ads ¥

8 Match List - T with List-II and choose the correct answer from the code
given below : :
List-I List-11

(A) Aristotle (i)  Ethics _

(B) Spinoza (i) An Essay concerning Human understanding
(C} Kant (ii1) Politics

(D) Locke (iv) Critique of Pure Reason

Code

(4 (B) © O
(I ® @) 3Gi) Gv)
@) ) () Gv) @)
G} (i) & (v @)
@) @) ) @i @

L Y gt B ol P 7 @ wh g 8

-1 -1

(A) ey () it

B) fodieT (i) T UH BT wE avey Rfdy 18
(€) =we (i) wifwfer : 18
D) wiF (iv) Tlmn oiiw =ik O

B 18

A B © @O : :

M 6 G) i) Gv) 18
@) G) (i) @Gv) () 18
G) @) @) (Gv) (i) 18
& (v Gi) G @ 5
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18 9  Berkeley was a

) Skeptic

3) Subjective idealist
e 8

(1) dead

() STHITS P OBEIC]

(2) Rationalist
(4) Realist

@ e
@)

10 Who has given the statement 'Mind is a tabula rasa’

(1) Socrates
(3) Locke

(2) Hume
(4) Leibnitz

‘mwﬁmm%”uﬁmaﬂm%?

(1 I@
(3) wi®

(2) & “
(4) AR

11  Match List-1 with List-11 and choose the correct answer from the code

given below :

List-1
(A) Democrats
(B) Pythagores
(C) Heraditus
(D) Thales
Code

n ® © O™
O @ @ @ O
@) (v @ @@ @)
@)y Gy O @
@ O G @) )

List-11
(i) Number theory
(i) Bverything changes _
(iii) Wateris the matenal cause of all things
(iv) Atomism

@-Iﬁ@-llﬁgﬁ%ﬁ%ﬁ@ﬁﬁﬂﬁ%%%ﬁﬁgﬁa
-1 T-IL

(A) AR G wem e

(B) URATIE (i1) ma@qﬁaﬁaé\fﬁ%

() TaeRed (i) ﬁﬁu@?ﬁﬂﬁﬁfﬁmw%

(D) et ' (iv) STARE

a) ® © O
ay Gy @iy (v O
@ (v @ @ @)
3) Gy @ @
@ @ @ @) W
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Vivekanand believed in the universality of religion because
(1) he had dictarial attitude

(2} essentially all religions are good

(3)  deep religious experience reveal their oneness
(4) he wanted to please other religious persons
Rz 3 el @t wedtfrear ¥ Rryar frar Tt
(1) "97 aedl wofy & &

@) WX e q ol wf o ¥

() T il et S R s 2

@) "9 @ o =t @ ve 5 T g

"Supermind' according to Sri Arvindo is -
(1)  highest element
(2) highest intellect

(3) meeting point of Brahaman and soul

(4) it is emotionless stage

&t oz % sER ‘o ¥
(1) veaT™ aa

(2) w=rm ghs

() e T e B e R
(4) wadea Rafly 3

Intuition and intellect differ in nature according to Radhakrishnan.

This difference is of -
(1) Category

(2) . Kind

(3) Division

(4) Totality

TEFIE & STER IR T awsn § wohemg 9 31 g 4 ¥

(1) 2ol @

(2) "BR =

() fwe an i @
(4) wnTm &
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*Turiyavastha' is experienable I

(1) 'Jagrat' or awakening stage

2) ‘Swapana' Of dreaming stage

3) 'Sushupti’ or deep sleeping stage

4) 'Qarva-nihitam' or all-inclusive

ey 1 g e ST AT ®

(1) e ¥

(2) T A

() gaRa @ e %

@y wdbf st A »

The theory of non-existence of 'Akash’ by charwakas is based on
(v Perception

(2) Testimony

3) Comparison

(4) Inference

<rais % T ‘erﬁmax’zﬁraﬁaaﬂﬂwanarﬁa%

(1) v W

(2) g T W

(3) SwrE W

(@) g W

1Samabhirud naya' in Jainism can be suitably expressed as

(1) riding on the back of some animal

(2)- grasping the meaﬁing of a word in its usage

3) decreasing the temperature of body in 'tapasyd

(4) working for grammar of 2 janguage

gatTee St i P d e Re S TEA €

(1) ﬁﬁé’rma‘?{mﬂ'{m_ﬁ@m

(2) ﬁa@tsmmaéaﬁWWm
) e ) Refy § 9T A W BT
(4 WW%W%WW?EW




18 If reality in Buddhism is momentary then 'Nibban' will be also momentary 1 8
But it is denied by Buddhist on the argument of

(1) 'Nibban' or libration is very Rious 1 8
(2) Momentariness is applicable for only worldly things

(3)  Nibban changes but in its our form as 'santanwada' 18
(4) Buddha included this in 'Avyakatani'

dF T Y aR T o @ Rrear (Frafr) o s g fog dry 18

RS P a6 W oneter fa e & 18
(1) fTvafor g5 uitey 2 - 18
(2) aﬁwmﬁﬁlawma@aﬁwm% 18
3) ﬁﬁwﬁﬁmﬁwﬁvﬂwﬁfﬁs’lﬂ% . ‘ s
@ g@%w‘mwaﬁﬁ’ﬁﬂﬁq%ﬁﬁm%

19 Vyapti in Nyaya Philosophy has some conditions for its validity their
number is
(1) Five
(2) Four
(3) Six
(4) Nine
T B F ey ﬁ%m%%ﬁg&aﬁqﬁnﬁ%lsﬂzﬁﬁw%
(1) g | |
@ wIx
3) =
@)

20 Gandhi was not an orthodox but a progressive person becaqse he 1 8
(1) accepted every western thought _
(2)  removed untouchability 1 8
(3} he tested everything on truth
{4)  he did not like many Indian tradition 18
N O SR T erftrg R e A wife 18
() T w% mewr Rrare a el
2) S ergegen g7 @) 18
G) S vAT o B T uwar | 18
) == & e wew @) e TS R 18
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Tkbal favoured human efforts to the height that even God would be attentive
to his choice. This means that

(1) Ikbal was arrogant

(2) He did not respect God

(3) He considered man Supreme

(4) He dignified human existence
mﬁ%qm@ﬁmﬁﬁgaﬁ“mﬁqﬁmmaﬁéawwmm%uﬁ
o <@y v g g ol ¥

(1) e A

(2) AT B wm:r T8 W oA
3) & W @ wdre A &

(@) R e et @ T &

Which one of the following is the correct sequence in Hegel's phitosophy
) Antithesis - Thesis - Synthesis

(2) Thesis - Antithesis - Synthesis

(3) Thesis - Synthests - Antithesis

(4) Synthesis - Antithesis - Thesis
W%aaﬁﬁ%ﬁﬁ_ﬁﬁﬁ@fﬂﬁmﬁ%

() fomg - wE - wEE |

() & - e — A"

() & - T - faus

(4) "I - fymy — ud

"Man wills not pleasure but power' whose idea is this from the following
(1) Husserl

(2) Moore

(3) Nietzsche

(4) Ryle
Wg@w&aﬁm'sﬁﬁmw%umﬁﬂﬁﬁww%

(1) T
2) T
3) SRS

(4) &
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Vanaprasthashram' suitably explained as

(1) to proceed to forest

(2) to reside in forest

(3) to abandon family life

(4) 1o serve society after completing household duties

TR SR vu ¥ aeatia fear s wwar 3

(1) 97 @ 3 T B

) = A Fram son

(3) uifeh® e = g

(@) eeEl F ol B g v & 9% 99 @ Q91 B
o

Jain religion is the religion of

(1) Jain caste and society

(ﬁ) followers of Mahaveer Swami

(3) believers in non-violence

(4) practitioners of the principles of Thirthankars

o o P ¥ § e ol R

(1) ¥ iy ug ware @

(2) TR @l % ergErEh @

(3) oféE ¥ e @AW @

(4) qdHd B ot B e B w

‘Arthkriyakarittva' is the supporting argument for
(1) Parinamwada

(2) Prattitya Samutpad

(3) Pramanyawada

(4.) Parivartanwad

‘gredfspar wie e § @ Rege guds o ¥
(1) ufommar

(2) Wi wgEwR

(3) wmEEERE

(4) uftadae
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If ‘Purush’ in Samkhya Philosophy 18 non-attached, conscious and eternal
entity then 'Bahupurushwada’ is

) consistent ) non-consistent

3) paradoxical (4) contradictory

wrer o A Ay gET IR, e T qyad A § A EIeEE
(1) I - (2) W

(3) e C @) R

'Abhinivesh’ in Yoga Philosophy means

(1) senses . {2) pleasures of ife
(3) fear of death (4) wil for liberation
dvrast 3§ ‘afubrsy w1 o ¥

(1) i (2) e & gE

@) T BT (@) TR ® gD

Which one of the following - not correctly matched
(1) Ayer - Logical Positivism -

(2) Russell - Logical atomism

(3) Moore - Refutation of Idealism

(4) Hegel - Subjective idealism

e ¥ A af gk T Y

(1) TR - REE IR

() Taw — Wa® T

@) W - IS H s

4) B - ARAETS AR

The theory of meaning accepted by wittgenstein is
(1) Semantic theory of meaning

(2) Pragmatic theory of meaning

3) Verifiability theory of meaning

(4) Meaning and use theory

iR B @i e Raera ®

() b & adgredl RS

(2) o @ i Es (RGNS EARS)

3) ot Bl FAE g

(4) arf et sy fasr
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The theory of truth propounded by James is

Which are from the following isl denied by Buddhism

(1) Life is full of sorrows but they are removable
(2) Metaphysical questions can be answered

(3) 'Asthangmarg' is key to Nibban
(4) Soul is 'Sanghat’

P i ¥ BT e a3 Rt e o ¥
(1) s gral & qof ¥ R o g Rear o apar 3
(2) TN g % SO Ry o7 gey ¥

(3) ot vt ‘e @ gl ¥
(4) oeT dam ¥

Which is wrong according to Vaisheshika philosophy

(1) They are seven Padarthas

(2) ‘'Kalpa' is the creation between two 'Pralayas’
(3) Karma is the name of good and bad actions

(4) There are "Panch Mahabhutas'

A9t 29 % AR BT T &
(1) ¥ e ¥
()  YH-AYW HE H AN BH' ¥ (4)

(2) < v & 9w gie wme ¥

G A &

The central problem of Heidegger's philosophy is
The problem of Becoming

(1) The problem of Being 2)
(3) The problem of Space 4)
BRER &% 391 o F=iw gman

(1) F & wren )
(3) & @ wmemn 4)

18/ PHILO2 A] 11

The problem

(1) Coherence (2) Correspondence
(3) Pragmatic _ (4) Semantics

SR BN SRenie ww @ Riarg ¥

(1) e (2) walke

(3) =TwIama @) o gl e
The theory of description is associated with

(1) Moore (2) Ryle

{3} Russell (4) Wittgenstein
Tereer &1 e wefug

(1) 9 (2) Ew

@) w@w ) T

of Time

Ty & g

@ T T
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According to Russell sensations are

(1) Physical (2) Mental

(3) Neutral (4) None of the above
@ ¥ R TS B ¥

(1) ¥ifaes (2)

(3) T () Sulw A« B Rl
'Chikirsha' in Nyaya Philosophy is related t0

(1) World (2) Atman

(3) Moksha @) God

st A Pl wdfaa ®

(1) | @ o
@) #& ¥ @) FERd

"Panchkosa Sidhanta' in Upnishadas proposes the following

(1) Mutiplicity of elements (2) Unity of elements _
(3) Independence of elements (4) Interdependence of elements

ﬁaaﬁqfa@ia(aqﬁﬂﬁw)ﬁﬂaﬁwﬁaw%
(1) @ & Tgo @) @ B T
3) e @Y SEtTH 4) T B araFnia

A 'Brahamanwadin' is also a ‘Mayawadin' because

(1) Maya is known as Maya when Brahaman is experienced
(2) World is real and accordingly experienced

(3) Brahaman and Maya are inexpressible

(4) Maya is illusion

s gerEne] T et W g ¥ i

(N Wa@@@ﬁ%aﬁmm%mﬁaﬁa@%
@) wEH Ed ¥ afit qEgEE o S A ¥

(3) e T W afrdede ®

(4) T S ¥

Kumaril and Prabhakar Mimansakas mainly differ with each other-on
(1) Ethical assumptions

(2) Epistemological assumptions

(3) Vidhi and Nishedha considerations

(4) Metaphysical assumptions
W@uwﬁmg@w%ﬁmwﬁﬁawﬁ%
(1) * e T @) srriEEE TS
) fafu—friy ferarend (4) TerdmidE Ty
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‘Shaktiwada' in Mimansa Philosophy can be explained in the following way

(1) 'Shakti' is fundamental in the universe

(2) Everyone should obtain ‘Shakti’

(3) Yajna when performed gives 'Shakti’

(4) Every object has potential power or Shakti’
diEr 2 ¥ ‘ofdere’ @1 Pee o7 ¥ THEET S0 gedr 3
(1) ‘o’ semmes ¥ onureE

() vOF B vRE T HE ARy

(3) <= T fpar wen ¥ oY o W B @

(@) vd% T N gwla ev o yRRE SRR

The Ultimate Reality according to Plato is

(1} Matter (2) Mind
(3) Idea (4) The world
e & AR ofaT ae §

1) <% 7= (2) Y
() wE @) s

Early wittgenstein is representative of
(1) Aurtificial language Philosophy
(2) Ordinary langrage Philosophy
{3) Phenomenology

(4) Existentialism

i Rzl TRl 3 |
(1) TBm 9 39 (2) WHRY W T§
(3) Tt (@) faeEEng
Vienna circle is associated with : .
(1) Pragmatism {2) Logical Positivism
(3) Absolutism (4) Rationalism
(1) TEERAR (2) diftes WEEE
3) FriaEw @) FeEaw
The idea of ’category mistake' is demonstrated by
(1) Ryle (2) Austin
(3) James (4) C.S Pierce
- B A B Rrare wefia fewm T ¥
(1) wE & (2) M B
() 9 W (@) dum frd g
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18 46 The concept of Mukti' in Nyaya and Vaisheshika Philosophy is same but not
favoured by "Sagun Vedantins' because

18 (1) Both philosophies believe in God
(2) Tamples of God are not build according to their cholce
18 (3) Consciousness does not remain with soul at the time of liberation

(4) Both philosophies differ in their approach to bondage
18 w@%ﬁﬁmasﬁﬁf‘gﬁﬁ’w%ﬁb@‘maﬂfﬂﬁ’mmwﬁﬁ
18 feran e ¥ el
(1y o sl de A Rygard B

18 )
18 (2) ésm%ﬂmﬁaaﬁ%wﬁwaﬁ%
18 (3) ﬁiaﬁiwaﬁmﬁ%ﬂmaﬁﬂﬁﬁﬁ%

@ am%mﬁﬁaﬁasﬁfﬁﬂg&aﬁWr@%%

47 The suitable meaﬁing of ‘antyantabhava’ will be explained in the

following way
(1) it is such an 'abhava' which remain for ever
(2) itis for the time being
(3) other things remain absent in it

. (4) it occurs when a thing is destroyed _
‘W’maﬁaﬁﬁﬂwémww%
m u%tmw%tﬁzﬁsﬁﬁ?n%
@) wE g5 i % R & am
(3) e et @ zgd o B E
(4) e q B & o @ g TE B E

18 48 'Evil' is indispensable to the goodness of the world' is the idea of
(1) Aquinas
18 (2) Augustine
(3) Anslem

18 (4) Plato
‘gt SO o IR & i sl ¥

18 ) Ui
18 () s
18 (3) wHan
18 @) @A
18
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49  Match List-I with List-IT and choose the correct answer from the code 1 8
given below :

List-I List-1
(A) God is unmoved mover ) Plato' 18
(B) Ideas are universal (1) Socretes - 1 8
(C) Cogito Ergo Sum (i} Aristotle
(D) Knowledge is virtue (iv) Descartes - 18
Code -

@) ® © O : 18

M O G G (v - 18
@ G @O @) @) . 18
@ @ ) G O 15
@ G Gv) @) i) "
qﬁrl%qﬁrli%gﬁ%aa%ﬁﬁaﬂwﬁw%ﬁ@awaaﬁrwgﬁﬁ:

-1 T I
(A) Fva¢ ThrtRa "REmt & G) W
(B) vog gmr ¥ (i) gEw
(C) = frer Tt wm (i) SR
®) = ag ¥ (iv) S
E3

») B) (€) D)
1 @ G G) (v
@ (i) @ (Gv) (D)
@) (v) (i) @) @
@ ) Gv) & (iD)

50  God in Yoga Philosophy does not create the world nor he destroys it, even

then the world according to Yoga Philosophy is in existence because 1 8
(1) Yoga Philosophy remains silent about it :

(2) God i1s unable to create world : 18
(3) " Yoga is about Samadhi ' _

(4) Yoga accepts metaphysics of Samkhya for creation of world 18
e H $9aR FE @ To e Hiar § o 7 99 = ww ¥ few
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